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QUESTION NO: 1

Which method can you use to change the object qualification of an object within Web Intelligence Rich Client?
Please choose the correct answer. Response:

A. In the Query panel, select the qualification.

B. In the Document Properties, select the qualification.

C. In Query View, right-click and select the qualification.

D. Select the object, right-click and select the qualification.

ANSWER: A

QUESTION NO: 2

You set the drill option "Prompt when drill requires additional data". Now you drill outside the scope of analysis on your
report.

How does Web Intelligence respond? Please choose the correct answer.

Response:

A. It prompts you to choose a hierarchy level and waits for your response before retrieving the data.
B. It notifies you that it needs to retrieve additional data to complete the drill and retrieves the data.
C. ltinserts a prompted query filter in the query and reruns the query.

D. It inserts a prompted report filter on the report and refreshes the report view.

ANSWER: A

QUESTION NO: 3

Which two options are valid options when you save a Web Intelligence document (WID) in the Web Intelligence Rich Client?
There are 2 correct answers to this question. Response:
A. Save As

B. Save As FTP
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C. Save Query As
D. Save to My Computer As

ANSWER: AD

QUESTION NO: 4

Where can you set the priority options for saving a Web Intelligence document (WID) to Microsoft Excel?
Please choose the correct answer. Response:

A. Web Intelligence

B. InfoView Preferences

C. Microsoft Excel File Options

D. Web Intelligence Rich Client

ANSWER: B

QUESTION NO: 5

Which three statements about the If() function are correct?
There are 3 correct answers to this question. Response:
A. Values within the function must be in quotes.

B. The function can be used to create a variable.

C. The function can contain an aggregate function.

D. Then and Else keywords can be used within the function instead of the semicolon.

ANSWER:BCD
QUESTION NO: 6

Which of the following is not a step of demonstration, to display an aggregate within a sectioned report.

Please choose the correct answer. Response:
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A. Click a detail row in the Sales revenue column
B. Click the Table, Chart or Others tab
C. Click the Analysis Toolbox

D. Click the Functions Tab

ANSWER: B

QUESTION NO: 7

Discuss the instructions appropriate for how you want the data in a table and manipulate the data within the table
There are 2 correct answers to this question Response:

A. Right-click the table and, from the contextual menu, select Copy

B. In the target document, right-click the section cell and, from the contextual menu, click Copy and paste

C. Drag and drop the table from Web Intelligence to the target application

D. In the target application, right-click the area where you want the table to appear and, from the contextual menu, select
Paste

ANSWER: AD

QUESTION NO: 8

Your report contains a table. What happens when you drop a dimension object into a blank part of this report? Please
choose the correct answer.

Response:

A. A new group is created.

B. A new block is created.

C. A new free-standing cell is created.

D. A new section is created.

ANSWER: B
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QUESTION NO: 9

Which three options are default page number cells?
There are 3 correct answers to this question. Response:
A. Page Number

B. Total Number of Pages

C. Page Number / Total Pages

D. Total Number of Pages in Section

ANSWER: ABC

QUESTION NO: 10

Which three calculations can you use in a measure object in Web Intelligence?
There are 3 correct answers to this question.

Response:

A. Min

B. Max

C. Count

D. Count All

ANSWER: ABC
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